




WRPLOT View - Lakes Environmental Software

WIND ROSE PLOT:
Station #19740 - Yerington Mine, Yerington, NV

DATE:

1/3/2006
PROJECT NO.:

121243.021

COMMENTS:

Multiply m/s by
2.237 to calculate
MPH

MODELER:

Guy Graening

COMPANY NAME:

Brown and Caldwell, Carson City, Nevada
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 >= 11.1

  8.8 - 11.1

  5.7 -  8.8

  3.6 -  5.7

  2.1 -  3.6

  0.5 -  2.1

Calms: 1.31%

TOTAL COUNT:

8756 hrs.
CALM WINDS:

1.31%

DATA PERIOD:

2005 
Jan 1 - Dec 31
00:00  -  23:00

AVG. WIND SPEED:

2.62 m/s

DISPLAY:
 Wind Speed
Flow Vector (blowing to)





Joint Frequency Distribution
Wind Direction and Speed, Annual 2006

Yerington Mine, Yerington, NV
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No observations were missing.
Wind flow is TO the directions shown.
Rings drawn at  5% intervals.
Calms included at center.
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PERCENT OCCURRENCE: Wind Speed  ( Miles Per Hour)
    LOWER BOUND OF CATEGORY

DIR 0 5 10 15 20 25
N

NNE
NE
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E
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  4.44
  6.34
  7.36
  4.32
  3.15
  3.04
  3.16
  3.30

  0.99
  0.64
  0.59
  0.57
  0.58
  0.62
  0.77
  1.58

  0.45
  0.63
  0.84
  0.93
  0.90
  0.83
  0.43
  0.33

  0.19
  0.61
  0.93
  1.14
  0.78
  0.40
  0.07
  0.14

  0.11
  0.37
  0.85
  0.66
  0.29
  0.06
  0.01
  0.07

  0.02
  0.21
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  0.01

PERCENT OCCURRENCE: Wind Speed  ( Miles Per Hour)
    LOWER BOUND OF CATEGORY
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  4.15
  5.24
  4.68
  3.20
  2.73
  2.47
  2.56
  3.33

  2.68
  4.19
  3.23
  1.56
  0.84
  0.36
  0.34
  0.82

  0.62
  0.65
  0.20
  0.04
  0.01
  0.01
  0.05
  0.17

  0.21
  0.11
  0.03
  0.00
  0.00
  0.01
  0.02
  0.07

  0.02
  0.01
  0.00
  0.00
  0.00
  0.00
  0.01
  0.06

  0.00
  0.00
  0.00
  0.00
  0.00
  0.00
  0.00
  0.02

TOTAL OBS = 34912   MISSING OBS =    0 CALM OBS =   49   PERCENT CALM =  0.14






